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RIART= W 404 95 309 Kg |EE 1,404 162| k= 2,484 324
BB\ 1,501 1,501 Kg iR 1,528 555
BEEIZED 196 196] Kg Syl 1,998 648
RAROL® 70 70| Kg BJE 3,240 918
BIEV¥H 198 7 191 Kg |EBRES 1,188 R 2,970 217
BTz 1 1 Kg |E&E 1,296
l3H 389 105 2841 Kg |EE 2,160 54|k 3,996 648
PHIEE 13 13 Kg |&&E 594 162
7=Z 548 280 268 Kg |Rl&-&E 2,300 1,100( &)= 2,484 1,080
P 31 31| Kg i 30,240 3,272
BAO 57 57 Kg REAS 19,440 2,160
BEDIAIED 2173 2731  Kg BEIR 2,592 540
Wbl 715 715 Kg SER - 486 72
W L 74 74 Kg SR 540 324
fd L 81 81| Kg FE 720 504
SE 345 3451 Kg = 1,037 346
SAE 12 12| Kg JtimE 972
ANeFo) 304 304 Kg ANER L 2,700 486
ERALIAV) 15 151 Kg Al 1,296
TAWLD 96 96 Kg |&E 7,020 1,890
BB 91 91| Kg w5 3,078 1,836
WALEELSA 169 169 Kg |B@A 4,536 3,197
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254|ED12ELCA 794 146 648 Kg |EA 1,793 972|m% 2,052 378
3031 A 7Ly 101 8 93| Kg |[#& 720 589 (1@ 900 720
315|7: B9 6 81 30 51 Kg [=kF 2,484 1,944| =I5 3,780 1,296
319|2h o 122 4 118| Kg [E=E 1,080 =F 2,268 945
332|= 13 WA =EF 215 215 Kg Bl = 1,728 1,566
3bl{HHV 21 5 16| Kg |[®E 2,808 ®E 8,100 2,700
35411FxE<Y 62 50 12| Kg |Z& 1,296 1,188|+E 1,404

355(mp Y 80 80 Kg time - FE 1,188 600
356(L L& 30 30 Kg SER 1,080 972
357|7RE Kg FEE 10,260 945
362(m & Kg itiBE 7,776

401|H W 61 61| Kg A0 2,052 1,620
4025 E 90 90 Kg FAN 6,426 3,672
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) TNy g 40 401 Kg F 594
mEBAAT 458 458 Kg 2yl 528
BRCEZV 10 10| Kg 2P

RER 32 32| Kg B =2 972
AT Z 240 2401 Kg BE - EA 850
AR 60 60| Kg JuBE - ¥ 1,404
AR T 150 150] Kg F
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70110 BA 836 836| Kg N1 3,996 1,566
71019 2 ®HA0F 65 65| Kg Ko 799 396
755|FH&» C 35 35| Kg RIE 882 637
56| £ T 41 41 Kg Ko 1,080
76l|1b Y AEE 18 18 Kg FOarL 2,340
01 [IBAL = 1T 205 205 Kg tmE - mA 2,160 1,296
802|1 x| 50 50| Kg gl 1,814 1,404
8051 1E 432 4321 Kg JbiF 1,231 716
810|FAKF 129 129] Kg bF 2,160 1,566
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